

$$v t_r, v t_r, t_r$$

$$r(t_1 r), r(t_1 r^2), t_1 r^2$$

$$v t_1 r^2 = v t_1 r + t_1 r^2$$

$$0 = t_1 r^2 - v t_1 r^2 + t_1 r$$

$$0 = t_1 r^2 (r^2 - v r + r) \rightarrow r^2 - v r + r = 0$$

ل r ضمتون صفرانه
چون دانه غير ثابت

$$(r-1)(r-v) = 0 \rightarrow \begin{matrix} r=1 \\ r=v \end{matrix}$$

$$v, \frac{v}{\varepsilon}, \dots \quad d = \frac{v}{\varepsilon} - \frac{1}{\varepsilon} = \frac{-1}{\varepsilon} \quad \begin{matrix} a_1 = r + r(-\frac{1}{\varepsilon}) = \frac{a}{\varepsilon} \\ a_2 = r + v(-\frac{1}{\varepsilon}) = \frac{1}{\varepsilon} \\ a_3 = r + \frac{v}{\varepsilon}(-\frac{1}{\varepsilon}) = -1 \end{matrix}$$

$$\frac{a}{\varepsilon} + x, \frac{1}{\varepsilon} + x, -1 + x \xrightarrow{\text{رابطه}} -1 + x, \frac{1}{\varepsilon} + x, \frac{a}{\varepsilon} + x$$

$$\begin{cases} \textcircled{1} -1 + x \\ \textcircled{2} \frac{1}{\varepsilon} + x = -1 + x r \\ \textcircled{3} \frac{a}{\varepsilon} + x = \frac{1}{\varepsilon} + x r \end{cases} \rightarrow \begin{matrix} 1 = \frac{r}{\varepsilon} + r \\ 1 = \frac{a r}{\varepsilon} \end{matrix} \rightarrow \varepsilon = a r \rightarrow r = \frac{a}{\varepsilon}$$

ردن اول :

$$(\frac{1}{\varepsilon} + x)^r = (-1 + x)(\frac{a}{\varepsilon} + x)$$

ردن دوم : (دو طرفه تبديل نشدن ردي اول)

$$\frac{1}{\varepsilon} + x + \frac{x}{\varepsilon} = x^r + \frac{1}{\varepsilon} x - \frac{a}{\varepsilon}$$

$$\frac{x}{\varepsilon} - \frac{x}{\varepsilon} = \frac{-a}{\varepsilon} - \frac{1}{\varepsilon} \rightarrow \frac{x}{\varepsilon} = \frac{-a-1}{\varepsilon} \rightarrow x = \frac{-a-1}{\varepsilon}$$

$$\frac{a}{\varepsilon} + x = \frac{1}{\varepsilon} + x r \rightarrow \frac{a}{\varepsilon} + \frac{-a-1}{\varepsilon} = \frac{1}{\varepsilon} + \frac{-a-1}{\varepsilon} r \rightarrow \frac{-1}{\varepsilon} = \frac{1}{\varepsilon} + \frac{-a-1}{\varepsilon} r \rightarrow -1 = 1 + (-a-1)r \rightarrow -2 = (-a-1)r \rightarrow r = \frac{2}{a+1}$$

$$t_1 + t_2 + t_3 = v r \rightarrow t_1^r = t_2 t_3 \rightarrow t_1 + t_2^r = v r$$

$\downarrow \quad \downarrow \quad \downarrow$
 $a_1 \quad a_2 \quad a_3$

$$a_1, a_1+d, a_1+4d \rightarrow \frac{d}{v} + \frac{d}{v} + d + \frac{d}{v} + 4d = v r \rightarrow \frac{v r d}{v} = v r \Rightarrow \boxed{d=v}$$

$$a_1^r + d^r + 4a_1 d = a_1^r + 4a_1 d$$

$$d^r - v a_1 d = 0 \rightarrow d(d - v a_1) = 0$$

$d \neq 0$ زير اگر $d=0$ بشه
جميع $v r$ نى شدد

$d = v a_1$
 $\frac{d}{v} = a_1$